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M 1415
1 2 3 4 5 6 7
Kennedy End 725 80
Padowo 0| 4 729 2 31
p.odg. Pawlowo @ |5 36
Zelistrzewo 0| 2 38| 3 41
Bartoszéw |5 7 46
Razem: ... | 16 + 5 | =21 min.
TZ 1471
1 2 3 4 5 6 7
Kennedy End 210 80
Padowo Q|5 215| 14 29
p.odg. Pawtowo @5 34
Zelistrzewo 0| 2 36| 20 56
Bartoszow Q|6 302
Razem: ... | 18 + 34 | =52 min.
TZ 1473
1 2 3 4 5 6 7
Kennedy End 905]| 80
Padowo @15 910 30 40
p.odg. Pawtowo @5 45
Zelistrzewo 0| 2 47| 25| 1012
Bartoszéw Q|6 1018
Razem: ... | 18 + 55 | =1 godz. 13 min.




20 KKMK
TZ 64173

1 2 | 3 4 5 6 7
Swierkéw Miasto 8] 535/ 80
Anuski Mate po 5 40
p.odg. Pawlowo 0|3 43
Padowo 0| 4 547 | 21 6 08
p.odg. Pawlowo @5 13
Zelistrzewo 0| 2 615| 15 30
Bartoszow 0| 6 6 36

Razem: ... | 26 + 36 | =1 godz. 1 min.

KKMK
DP 1603
1 3 4 6 7
Kennedy End 403 | 80
Padowo 4 407 09 | 100
p.odg. Pawtowo 4 13
Anuski Mate po 2 15
Swierkéw Miasto 3 418
Razem: ... | 13 + =15 min.
DP 1605
1 3 4 6 7
Kennedy End 744 80
Padowo 4 748 50 | 100
p.odg. Pawtowo 4 54
Anuski Mate po 2 56
Swierkéw Miasto 3 759
Razem: ... | 13 + =15 min.
P 1605
1 3 4 6 7
Kennedy End 945|100
Padowo 4 949 52
p.odg. Pawtowo 4 56
Anuski Mate po 2 58
Swierkéw Miasto 3 10 01
Razem: ... | 13 + =16 min.
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M 6417
1 2 3 4 5 6 7
Swierkéw Miasto 0 1112 80
Anuski Mate po 5 1117 | 1 18
p.odg. Pawlowo 0| 4 22
Padowo 0| 4 26| 18 44
p.odg. Pawlowo @5 49
Zelistrzewo 0| 2 51| 1 52
Bartoszow @ 5| 1157
Razem: ... | 25 + 20 | = 45 min.
TZ 46172
1 2 3 4 5 6 7
Bartoszéw 0 215 80
Zelistrzewo |6 221 5 26
p.odg. Pawtowo 0| 4 30
Padowo 0| 4 34| 26 300
p.odg. Pawtowo @5 05
Anuski Mate po 3 08
Swierkéw Miasto 0| 4 312
Razem: ... | 26 + 31 | =57 min.

KKMK
™™ 1667
1 2 3 4 6 7
Kennedy End 504 80
Padowo 0| 4 08
p.odg. Pawlowo 0| 4 12
Anuski Mate po 3 15
Swierkéw Miasto 0| 4 519
Razem: ... | 15 + =15 min.
T™ 1669
1 2 3 4 6 7
Kennedy End 1028 | 80
Padowo 0| 4 32
p.odg. Pawtowo 0 | 4 36
Anuski Mate po 3 39
Swierkéw Miasto 0| 4 1043
Razem: ... | 15 + =15 min.
M 2120
1 2 3 4 6 7
Padowo 8] 1010 | 80
Kennedy End —A| 4 10 14
Razem: ... | 4 + = 4 min.

A = mozliwy wjazd na Slepy tor
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TM 6170 M 4114
1 2 | 3 4 5 6 7 8 1 2 | 3 4 5 6 7
Swierkéw Miasto 8] 11 04 | 80 Bartoszéw 0 452 80
Anuski Mate po 5 09 Zelistrzewo |5 457 1 58
p.odg. Pawtowo O | 3 12 p.odg. Pawtowo 0| 3 501
Padowo 0| 4 16 Padowo 0| 4 505| 4 09
Kennedy End —A| 3 1119 Kennedy End —A| 4 513
Razem: ... | 15 + 0 | =15 min. Razem: ... | 16 + 5 | =21 min.
A = mozliwy wjazd na Slepy tor A = moZliwy wjazd na Slepy tor
M 6216 M 4116
1 2 | 3 4 5 6 7 8 1 2 | 3 4 5 6 7
Swierkéw Miasto 0 940 80 Bartoszéw 0 918 | 80
Anuski Mate po 4 44 Zelistrzewo |5 923 1 24
p.odg. Pawtowo @3 47 p.odg. Pawtowo 0| 3 27
Padowo 0| 4 9 51 Padowo 0| 4 31| 4 35
Razem: ... | 11 + 0 | =11 min. Kennedy End —A| 4 939
Razem: ... | 16 + 5 | =21 min.
M 6411 A = mozliwy wjazd na Slepy tor
1 2 | 3 4 5 6 7 8
TZ 4172
Swierkéw Miasto 8] 200/ 80 y > | 3 2 5 5 7
Anuski Mate po 5 205 1 06
p.odg. Pawtowo 0| 4 10 Bartoszow 0 445 80
Padowo 0| 4 14| 26 40 Zelistrzewo Q| 6 451 24 515
p.odg. Pawtowo | 5 45 p.odg. Pawtowo 0| 4 19
Zelistrzewo 0| 2 47| 1 48 Padowo 0|4 523 20 43
Bartoszow ] 253 Kennedy End Al 5 548
Razem: ... | 25 + 28 | = 53 min. Razem: ... | 19 + 44 | =1 godz. 3 min.

A = mozliwy wjazd na Slepy tor
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DP 6106
1 2 | 3 4 6 7
Swierkéw Miasto 0 910 (100
Anuski Mate po 4 14
p.odg. Pawlowo 0 | 2 16
Padowo 0|3 919 21| 80
Kennedy End —A| 4 925
Razem: ... | 13 + =15 min.
A = mozliwy wjazd na Slepy tor
P 6106
1 2 | 3 4 6 7
Swierkéw Miasto 0 10 50 | 100
Anuski Mate po 4 54
p.odg. Pawlowo 0 | 2 56
Padowo @ 3| 1059 11 01
Kennedy End —A| 4 11 05
Razem: ... | 13 + =15 min.
A = mozliwy wjazd na Slepy tor
M 6112
1 2 | 3 4 6 7
Swierkéw Miasto 0 115 80
Anuski Mate po 5 120 21
p.odg. Pawlowo 0| 4 25
Padowo 0| 4 29 31
Kennedy End —A| 4 135
Razem: ... | 17 + = 20 min.

A = mozliwy wjazd na Slepy tor

KKMK 11
M 4614
1 2 3 4 5 6 7
Bartoszéw 0 312 | 80
Zelistrzewo 0|5 317 1 18
p.odg. Pawlowo 0|3 21
Padowo 0| 4 25| 18 43
p.odg. Pawlowo 0|5 48
Anuski Mate po 3 51| 2 53
Swierkéw Miasto 0|5 358
Razem: ... | 25 + 21 | = 46 min.
M 4616
1 2 | 3 4 5 6 7
Bartoszéw 0 650 80
Zelistrzewo @5 655 1 56
p.odg. Pawtowo @ |3 59
Padowo 0| 4 703]| 18 721
p.odg. Pawtowo @15 26
Anuski Mate po 3 29| 2 31
Swierkéw Miasto 0|5 7 36
Razem: ... | 25 + 21 | = 46 min.
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M 4618
1 2 3 4 5 6 7
Bartoszéw 0 946 | 80
Zelistrzewo |5 951 | 1 52
p.odg. Pawlowo 0|3 55
Padowo 0| 4 59| 16| 1015
p.odg. Pawlowo @5 20
Anuski Mate po 3 1023 2 25
Swierkéw Miasto 5| 1030
Razem: ... | 25 + 19 | = 44 min.
DP 6102
1 2 3 4 5 6 7
Swierkéw Miasto 0 055|100
Anuski Mate po 4 59
p.odg. Pawtowo 0| 2 101
Padowo 0|3 104| 2 06 | 80
Kennedy End —A| 4 110
Razem: ... | 13 + 2 | =15 min.
A = mozliwy wjazd na Slepy tor

KKMK 13
P 6102
1 2 | 3 4 6 7
Swierkéw Miasto 0 245100
Anuski Mate po 4 49
p.odg. Pawlowo 0| 2 51
Padowo 0| 3 254 56
Kennedy End —A| 4 300
Razem: ... | 13 + = 15 min.
A = mozliwy wjazd na Slepy tor
DP 6104
1 2 | 3 4 6 7
Swierkéw Miasto 0 442|100
Anuski Mate po 4 46
p.odg. Pawtowo 0| 2 48
Padowo 0| 3 4 51 53| 80
Kennedy End —A| 4 4 57
Razem: ... | 13 + = 15 min.
A = mozliwy wjazd na Slepy tor
P 6104
1 2 | 3 4 6 7
Swierkéw Miasto 0 7 45| 100
Anuski Mate po 4 49
p.odg. Pawlowo 0| 2 51
Padowo @ | 3 754 56
Kennedy End —A| 4 8 00
Razem: ... | 13 + = 15 min.

A = mozliwy wjazd na Slepy tor
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TZ 4174
1 2 3 4 5 6 7
Bartoszéw 0 11 05| 80
Zelistrzewo 6| 1111 16 27
p.odg. Pawtowo 0| 4 31
Padowo 0| 4 35| 20 55
Kennedy End Al 5 1200
Razem: ... | 19 + 36 | = 55 min.
A = mozliwy wjazd na Slepy tor
M 4321
1 2 3 4 5 6 7
Bartoszéw 0 350 60
Zelistrzewo 0|5 355
Razem: ... | § + 0 |=5min.
M 4612
1 2 3 4 5 6 7
Bartoszow 0 028 80
Zelistrzewo @5 033 1 34
p.odg. Pawtowo O3 37
Padowo 0| 4 41| 18 59
p.odg. Pawtowo |5 104
Anuski Mate po 3 107 | 1 08
Swierkéw Miasto 0|5 113
Razem: ... | 25 + 20 | =45 min.

KKMK 15
M 6114
1 2 | 3 4 6 7 8
Swierkéw Miasto 0 4 05| 80
Anuski Mate po 4 09
p.odg. Pawlowo 0|3 12
Padowo 0| 4 16
Kennedy End —A| 3 419
Razem: ... | 14 + = 14 min.
A = mozliwy wjazd na Slepy tor
TM 6166
1 2 | 3 4 6 7 8
Swierkéw Miasto 0 235 80
Anuski Mate po 5 40
p.odg. Pawlowo 0|3 43
Padowo 0| 4 47
Kennedy End —A| 3 250
Razem: ... | 15 + =15 min.
A = mozliwy wjazd na Slepy tor
TM 6168
1 2 | 3 4 6 7 8
Swierkéw Miasto 0 640 | 80
Anuski Mate po 5 45
p.odg. Pawlowo 0|3 48
Padowo 0| 4 52
Kennedy End —A| 3 6 55
Razem: ... | 15 + =15 min.

A = mozliwy wjazd na Slepy tor
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M 2611
1 2 3 4 6 7
Padowo 0 028 80
p.odg. Pawlowo 0|5 33
Anuski Mate po 3 036 37
Swierkow Miasto @] 5 042
Razem: ... | 13 + = 14 min.
M 3421
1 2 3 4 6 7
Zelistrzewo 0 420/ 60
Bartoszéw @15 425
Razem: ... | 5 + =5 min.
M 4112
1 2 3 4 6 7
Bartoszéow § 135| 80
Zelistrzewo O | 5 140 41
p.odg. Pawtowo O | 3 44
Padowo 0 | 4 48 49
Kennedy End —A| 4 153
Razem: ... | 16 + =18 min.

A = mozliwy wjazd na Slepy tor

KKMK 17
M 6413
1 2 3 4 5 6 7
Swierkéw Miasto 0 500 80
Anuski Mate po 5 505 1 06
p.odg. Pawlowo 0| 4 10
Padowo 0| 4 14| 15 29
p.odg. Pawlowo 0|5 34
Zelistrzewo 0| 2 36
Bartoszow 0| 4 540
Razem: ... | 24 + 16 | = 40 min.
M 6415
1 2 3 4 5 6 7
Swierkéw Miasto 0 800 80
Anuski Mate po 5 805 1 06
p.odg. Pawtowo 0| 4 10
Padowo 0| 4 14| 18 32
p.odg. Pawtowo @15 37
Zelistrzewo 0| 2 39| 1 40
Bartoszéow @5 845
Razem: ... | 25 + 20 | =45 min.
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M 1613
1 3 4 6 7
Kennedy End 315 80
Padowo 4 319 21
p.odg. Pawtowo 5 26
Anuski Mate po 3 29 30
Swierkéw Miasto 5 335
Razem: ... | 17 + = 20 min.
M 1615
1 3 4 6 7
Kennedy End 835 80
Padowo 4 839 41
p.odg. Pawtowo 5 46
Anuski Mate po 3 49 50
Swierkéw Miasto 5 855
Razem: ... | 17 + = 20 min.
TM 1665
1 3 4 6 7
Kennedy End 140 80
Padowo 4 44
p.odg. Pawtowo 4 48
Anuski Mate po 3 51
Swierkéw Miasto 4 155
Razem: ... | 15 + = 15 min.

KKMK 19
TZ 46174

1 2 3 4 5 6 7
Bartoszéw 0 811 | 80
Zelistrzewo 0|5 16
p.odg. Pawtowo 0| 2 18
Padowo 0| 4 822 32 54
p.odg. Pawlowo 0|5 59
Anuski Mate po 3 902
Swierkéw Miasto 0| 4 9 06

Razem: ... | 23 + 32 | = 55 min.
TZ 64171

1 2 3 4 5 6 7
Swierkéw Miasto 0 005]| 80
Anuski Mate po 5 10
p.odg. Pawtowo @ |3 13
Padowo 0| 4 017 | 24 41
p.odg. Pawtowo @5 46
Zelistrzewo 0| 2 48
Bartoszéow 0| 4 052

Razem: ... | 23 + 24 | =47 min.
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DP 1601
1 3 4 6 7 8
Kennedy End 005]| 80
Padowo 4 009 11| 100
p.odg. Pawtowo 4 15
Anuski Mate po 2 17
Swierkéw Miasto 3 020
Razem: ... | 13 + = 15 min.
P 1601
1 3 4 6 7 8
Kennedy End 203|100
Padowo 4 207 09
p.odg. Pawtowo 4 13
Anuski Mate po 2 15
Swierkéw Miasto 3 218
Razem: ... | 13 + = 15 min.
P 1603
1 3 4 6 7 8
Kennedy End 610|100
Padowo 4 614 16
p.odg. Pawtowo 4 20
Anuski Mate po 2 22
Swierkéw Miasto 3 625
Razem: ... | 13 + = 15 min.

KKMK
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M 1221
1 2 3 4 6 7 8
Kennedy End 11 30| 80
Padowo 0 4 11 34
Razem: ... | 4 + =4 min.
M 1411
1 2 3 4 6 7 8
Kennedy End 028 80
Padowo 0| 4 032 34
p.odg. Pawtowo @5 39
Zelistrzewo 0| 2 41 42
Bartoszéw @] 5 047
Razem: ... | 16 + =19 min.
M 1413
1 2 3 4 6 7 8
Kennedy End 302 80
Padowo 0| 4 306 08
p.odg. Pawtowo @5 13
Zelistrzewo @ 2 15 18
Bartoszéw @] 5 323
Razem: ... | 16 + =21 min.
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